238

300

232

1M

59

SF [ BN A 8~ R 55 A

FTERAERE
+15°

238

300

I

17

282

-

387

BRoABEECTHA UV EREZED O TFLEEET BARBY T,
ANFRAVFEMEs VBEM-BEEBRAILTERZLTHY FT,

SMBTE |W282 x H300 x DBO~ 387 TBRE |TAATLABMHRY MLX 124K MLX 30:4AK M6X 12:4K M6X 20:44
E B |24kg M6X 35:4AK MBX 12:4K MBX 20:4& M8X 35:4K
YSH 4 X (13~ 398 & © / 22.TkgE T FLERfOyYvy— ML:BE M6/ MBZLME
1A AE | £15° TLEHftRR—4— ML/ M6/ M8 LE
BHikY |+90° KER
o & |=x180° SURIWKN2ZR STRLNAANR—ME STRLNATY v — 2@
B (RF—0 AVYY—bTUH—2K
2 ® |73v4s OE#HEeYy MBI TFavIRULNIRIIYTF A RLVNATY 1@
HiftewF [VESA 75. 100. 200. 200% 100 AEDySy—1KR AR—4—HF Tyviv—:2
Ra4 4 X [W345 x H300 x D100 7 3.2kg NALYF IR
F—TNLTL—K2E SF—FLTL—rBEEFS LK
ftR&E |(E#HOSATE RNV KUK
- RE A SANUS 75 YbT4RTLA
ﬁ ) 1/6 A — L RIUR (BETILE—S A 84F)
IC Hﬁt’%ﬁ 9-'4 7"{ .-J_ Bif mm Rev. 14/06/17 BME VSF415-B2 No.




